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1. &��� �%�����/ ��%&�����/

&5?L >E6>5=<O 4<EF<??<=O «%?5F<4?<7<D>64==4O < E?5F<4?L=4O 
46F><>5<?L=4O F5E=<>4»: O6?ONFEO: D>D<<D>64=<5 =5>5E>4<<OE F5>D5F<G5E><E 
7=4=<= >E=>6=OE F<?>6 < ?D<6<F<5 ?D4>F<G5E><E =46O>>6 44FL 5G4GM<< 
E?5F<4?<EF4< =5>5E>4<<O5 F5>D5F<G5E><5 7=4=<O >>=EFDG>F<= < D45>G<E 
?D>F5EE>6, 4 F4>65 >E6>5=<5 >E=>6=OE E6545=<= ?> ?D46<?L=><G 6O5>DG <4L<= 6 
7444==OE M>E??G4F4F<>==OE GE?>6<OE 4?O 4>EF<65=<O <4>E<<4?L=>= 
MDD5>F<6=>EF< <E <E?>?L7>64=<O ?D< E>5?N45=<< FD55>64=<= 557>?4E=>EF< < 
E>ED4=5=<O >>DG64NM5= ED54O.

. 

�444G< 4<EF<??<=O:

- >?D545?5=<5 <5EF4 < =47=4G5=<O <4L<=O 6 F5E=>?>7<G5E>>< ?D>F5EE5; 
- <7GG5=<5 ?D<=F<?<4?L=OE EE5< < >>=EFDG>F<= E4D4>F5D=OE ?D54EF46<F5?5= 

D47?<G=OE 7DG?? <4L<=; 
- <7GG5=<5 ?D<=F<?>6 D45>FO <4L<=, =4 >E=>65 >>F>DOE <>6=> >EGM5EF6<FL 

?D46<?L=O= 6O5>D < M>E??G4F4F<N <4L<=O; 
- <E?>?L7>64=<5 D4EG5F=OE 746<E<<>EF5= ?D><76>4<F5?L=>EF< 6 7444==OE 

GE?>6<OE M>E??G4F4F<< < <E 4=4?<7 4?O ?>6OL5=<O MDD5>F<6=>EF< D45>FO <4L<=.
- D>D<<D>64=<5 >><?5F5=F<= ?D54GE<>FD5==OE GG55=O< ??4=><;
- ?D<>5D5F5=<5 ?D4>F<G5E><E =46O>>6 >D74=<74F<< M>E??G4F4F<< 

E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<< (D/02.6).

2. ��%&� ��%&�����/ � %&$'�&'$� ����

�<EF<??<=4 «%?5F<4?<7<D>64==4O < E?5F<4?L=4O 46F><>5<?L=4O F5E=<>4» 
6>?NG5=4 6 5?>> �1.�.08. �F=>E<FEO > G4EF<, D>D<<DG5<>= GG4EF=<>4<< 
>5D47>64F5?L=OE >F=>L5=<=. �<EF<??<=4 >E64<645FEO 6 4-< E5<5EFD5 =4 74>G=>= 
D>D<5 >5GG5=<O.

�?O <7GG5=<O 4<EF<??<=O =5>5E>4<<O 7=4=<O, ED>D<<D>64==O5 G >5GG4N-

M<EEO 6 D57G?LF4F5 >E6>5=<O 4<EF<??<=: «%5?LE>>E>7O=EF65==4O F5E=<>4», 
«-?5>FD>F5E=<>4 < M?5>FD>=<>4».

�<=<<4?L=O5 FD55>64=<O > «6E>4=O<» 7=4=<O<, =5>5E>4<<O< 4?O 
GE?5L=>7> >E6>5=<O 44==>= 4<EF<??<=O: G4>6?5F6>D<F5?L=>5 GE6>5=<5 ?D>7D4<<O 
?> G>474==>= 6OL5 4<EF<??<=5.

�<EF<??<=4 E>7445F F5>D5F<G5E>GN < ?D4>F<G5E>GN >E=>6G 4?O <7GG5=<O 
?>E?54GNM<E 4<EF<??<=: «-?5>FD>F5E=<>4 < M?5>FD>>5>DG4>64=<5 FD4=E?>DF=OE < 
FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6», «�E=>6O F5E=>?>7<< D5<>=F4 
FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= < >><??5>E>6», «->E??G4F4F<O 46F><>5<?5=»
«�D74=<74F<O 46F><>5<?L=OE ?5D56>7>> < 557>?4E=>EFL 46<65=<O», «�E=>6O 
F5>D<< =4456=>EF< < 4<47=>EF<><», «�D><76>4EF65==>-F5E=<G5E>4O <=DD4EFDG>FGD4 
< >E=>6O ?D>5>F<D>64=<O ?D54?D<OF<= 46F><>5<?L=>7> FD4=E?>DF4», «�D74=<74F<O 
46F><>5<?L=OE ?5D56>7>> < 557>?4E=>EFL 46<65=<O».



3. �����&��&�� ��''�.-���%/, $�$��$'��/� � $��'�,&�&�
�%�����/ ��%&�����/

�D>F5EE <7GG5=<O 4<EF<??<=O =4?D46?5= =4 D>D<<D>64=<5 D57G?LF4F>6
>5GG5=<O, ?D54EF46?5==OE 6 F45?<F5:

�>4 
>><?5F5=F<<

$57G?LF4FO >E6>5=<O
��

�=4<>4F>DO >><?5-

F5=F<<
�5D5G5=L ??4=<DG5<OE D57G?L-

F4F>6 <7GG5=<O 4<EF<??<=O
��-5 %?>E>55= >D74=<7>64FL 

M>E??G4F4F<N, 
F5E=<G5E>>5 
>5E?G6<64=<5 < D5<>=F 
E5?LE>>E>7O=EF65==>= 
F5E=<>< 6 >D74=<74F<<

��-1��-5 �D74=<7G5F 
M>E??G4F4F<N 
E5?LE>>E>7O=EF65==>= 
F5E=<>< 6 >D74=<74F<<

�=4FL
- F5E=<G5E><5 E4D4>F5D<EF<><, 
>>=EFDG>F<6=O5 >E>55==>EF<, 
=47=4G5=<5, D56<<O D45>FO 
E5?LE>>E>7O=EF65==>= F5E=<><;
- =>D<4F<6=GN < F5E=<G5E>GN 
4>>G<5=F4F<N ?> M>E??G4F4F<< 
E5?LE>>E>7O=EF65==>= F5E=<><;

- =47=4G5=<5, >?4EE<D<>4F<N, 
>5M55 GEFD>=EF6> < >E=>6=O5 
F5E=<G5E><5 ?4D4<5FDO 
74DG556=>= < E?5F<4?L=>= 
46F><>5<?L=>= F5E=<><
'<5FL
- >D74=<7>6O64FL M>E??G4F4F<N 
E5?LE>>E>7O=EF65==>= F5E=<><;

- 6O5<D4FL F<? 74DG556=>= < 
E?5F<4?L=>= 46F><>5<?L=>= 
F5E=<>< E F5E=<G5E><<< < 
>>=EFDG>F<6=O<< ?4D4<5FD4<<, 
E>>F65FEF6GNM<<< F5E=>-

?>7<G5E><< FD55>64=<O< < 
GE?>6<O< 57> D45>FO
�?445FL 
- - =46O>4<< M>E??G4F4F<< 
E5?LE>>E>7O=EF65==>= F5E=<><;

- <5F>44<< 6O?>?=5=<O 
F5E=>?>7<G5E><E D57G?<D>6>> 
<4L<= < <E 47D574F>6; E?>E>54<< 
557>?4E=>= M>E??G4F4F<< <4L<=



4. %&$'�&'$� � %���$����� ��%&�����/
�5M4O FDG4>5<>>EFL 4<EF<??<=O E>EF46?O5F _2_74G5F=OE 54<=<FO, 72 G4E>6, 6 F>< G<E?5 >>=F4>F=>= D45>FO 8,15 G4E4,

 (74>G=4O D>D<4 >5GG5=<O)

7
?/? $4745?O, F5<O 4<EF<??<=O

�<4O GG55=>= D45>FO, 6>?NG4O E4<>EF>OF5?L=GN D45>FG EFG45=F>6, G4E. $>D<O >>=FD>?O
�>=F4>F=4O D45>F4 %4<>EF>OF5?L=4O D45>F4
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1 &5<4 1 �5M<5 E6545=<O > E?5F<4?L=>= 
46F><>5<?L=>= F5E=<>5 1 0,5 0,5 

- 
- 

7 2 2 2 0,5 0,5 

�>?D>EO 6E>4=>7> >>=FD>?O,
E>55E54>64=<5, F5EF<D>64=<5,

74G5F
2 &5<4 2 �6F>?>5744

1 0,5 0,5 
- 

- 
7 2 2 2 0,5 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

3 &5<4 3�6F><>5<?< 3 E4<>E64?O. �6F>?>5744- 

-E4<>E64?O 1 0,5 0,5 
- - 7 2 2 2 0,5 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

4 &5<4 4 �6F><>5<?< 3 F<EF5D=O. �6F>?>5744 -
F<EF5D=O 1 0,5 0,5 11 4 4 2 0,5 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

5 &5<4 5 �6F><>5<?<-DGD7>=O. �6F>?>5744-

DGD7>=O. �6F>D5DD<65D4F>DO 1 0,5 0,5 - - 6,5 2 2 1 1 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

6 &5<4 6 �>=F5==5D>6>7O < 46F>FD4=E?>DF=O5 
ED54EF64 E 7DG7>?>4N5<=O<< GEFD>=EF64<< < 
EN5<=O<< 1 0,5 0,5 - - 7 2 2 2 0,5 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

7 &5<4 7 �6F><>5<?L=O5 >D4=O
1 0,5 0,5 - - 7,85 2 2 2,85 0,5 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

8 &5<4 8 �><<G=4?L=O5 <4L<=O
1 0,5 0,5 10,5 4 4 1 1 0,5 

%>55E54>64=<5, F5EF<D>64=<5,
?D4>F<G5E><5 74=OF<O, 74G5F

�=4<6<4G4?L=O5 >>=EG?LF4F<< 0,15 - - 0,15 - - - - - - - - 

�D><56GF>G=4O 4FF5EF4F<O - - - - - 4 - - - - 4 74G5F
�E57> ?> 6<44< GG55=>= D45>FO 8,15 4 4 0,15 - 63,85 20 20 14,85 5 4 - 



&5<4 1 �5M<5 E6545=<O > E?5F<4?L=>= 46F><>5<?L=>= F5E=<>5 

�?4EE<D<>4F<O 7DG7>6, ?5D56>7<<OE E?5F<4?L=>= 46F><>5<?L=>= F5E=<>>=. 

�?4EE<D<>4F<O 7DG7>6>= E?5F<4?L=>= 46F><>5<?L=>= F5E=<><. �4D><D>6>4 
7DG7>6OE 46F><>5<?5=, ?D<F5?>6 < ?>?G?D<F5?>6.  

 

&5<4 2 �6F>?>5744 

�5M<5 E6545=<O >5 46F>?>5744E. �?4EE<D<>4F<O < >><?>=>6>G=O5 EE5<O 
46F>?>574>6. &O74G< 46F>?>574>6. �D<F5?=>= E>EF46. %F5?=O5 < ?>6>D>F=O5 
GEFD>=EF64 ?D<F5?>6. %F5?=O5 GEFD>=EF64 FO74G5=. �?>D=O5 GEFD>=EF64 
?>?G?D<F5?>6.  
 

&5<4 3 �6F><>5<?< 3 E4<>E64?O. �6F>?>5744- -E4<>E64?O 

�47=4G5=<5 < >?4EE<D<>4F<O 46F>E4<>E64?>6. �5M55 GEFD>=EF6> 
46F>E4<>E64?>6. �G7>64 46F>E4<>E64?>6.  

%4<>E64?L=O5 ?D<F5?O < ?>?G?D<F5?O. �<4D46?<G5E><5 ?>4N5<=O5 
<5E4=<7<O (>?D>><4O64NM<5 GEFD>=EF64). 

 

&5<4 4 �6F><>5<?< 3 F<EF5D=O. �6F>?>5744 - F<EF5D=O 

�47=4G5=<5, >?4EE<D<>4F<O < >5>7=4G5=<5 46F>F<EF5D=. �>=EFDG>F<O F<EF5D= 
(D575D6G4D>6) < <E >5>DG4>64=<5. �6F>F<EF5D=O 4?O ?5D56>7>< =5DF5?D>4G>F>6. 
�6F>F<EF5D=O 4?O ?5D56>7>< E5?LE>>E>7O=EF65==OE 7DG7>6. �6F>F5<5=F>6>7O < 
46F>F<EF5D=O 4?O ?5D56>7>< F5<5=F4 6<4><E EFD><F5?L=OE < ?>?G6<4><E E<5E5= 

 

&5<4 5 �6F><>5<?<-DGD7>=O. �6F>?>5744-DGD7>=O. �6F>D5DD<65D4F>DO 

�47=4G5=<5, >E=>6=O5 F<?O = F5E=<G5E><5 FD55>64=<O > 46F>DGD7>=4<. 
�57<4?L==O= < <4L<==O= E?>E>5O >E?4645=<O 7DG7>6 6 D5DD<65D4F>D4E. �5M55 
GEFD>=EF6> 46F>D5DD<65D4F>D4, >E=4M5==>7> E>?>4<?L=>= GEF4=>6>>=. 

&5D<><7>?OF<O 46F>DGD7>=>6 

 

&5<4 6 �>=F5==5D>6>7O < 46F>FD4=E?>DF=O5 ED54EF64 E 7DG7>?>4N5<=O<< 
GEFD>=EF64<< < EN5<=O<< 

�47=4G5=<5 = >?4EE<D<>4F<O >>=F5==5D>6>7>6. �>?G?D<F5?O->>=F5==5D>6>7O. 
�6F>FD4=E?>DF=O5 ED54EF64 < ?>?G?D<F5?O->>=F5==5D>6>7O E 7DG7>6O<< 
GEFD>=EF64<<. �6F>FD4=E?>DF=O5 ED54EF64 E> EN5<=O<< >G7>64<<.  

 

&5<4 7 ��&������,�/� �$��/ 

�?4EE<D<>4F<O = F5E=<G5E><5 FD55>64=<O > 46F>>D4=4<. &<?>D47<5D=O= DO4 
46F><>5<?L=OE >D4=>6 < <E <=45>E4F<O. �5M55 GEFD>=EF6> 46F><>5<?L=OE >D4=>6 

< <E ><=5<4F<G5E><5 EE5<O.  

 

&5<4 8 �><<G=4?L=O5 <4L<=O 

�5M<5 E6545=<O > >><<G=4?L=OE <4L<=4E < <E >?4EE<D<>4F<O. �4L<=O 4?O 
E5>D4 < 6O6>74 5OF>6OE >FE>4>6. �4L<=O 4?O E>45D64=<O 4>D>7 6 ?5F=<= ?5D<>4. 
�4L<=O 4?O E>45D64=<O 4>D>7 6 7<<=<= ?5D<>4. �><5<=<D>64==O5 4>D>6=O5 
<4L<=O. %?5F<4?L=O5 46F><>5<?< 4?O D5<>=F4 < D47<5F>< 4>D>7 



5.��$�����&��,�/� &�%�������

�D74=<74F<O 74=OF<= ?> 4<EF<??<=5 «%?5F<4?<7<D>64==4O < E?5F<4?L=4O 
46F><>5<?L=4O F5E=<>4» ?D>6>4<FEO ?> 6<44< GG55=>= D45>FO - ?5>F<<, 
?D4>F<G5E><5 74=OF<O, E4<>EF>OF5?L=4O D45>F4, F5>GM<= >>=FD>?L.

'4EFL ?5>F<>==OE 74=OF<= ?D>6>4<FEO 6 4G4<F>D<< E ?D<<5=5=<5< 
<G?LF<<54<==>7> ?D>5>F>D4 6 6<45 <=F5D4>F<6=>= D>D<O. �E=>6=O5 <><5=FO 
?5>F<>==OE 74=OF<= >>=E?5>F<DGNFEO. �F45?L=O5 F5<O ?D54?474NFEO 4?O
E4<>EF>OF5?L=>7> <7GG5=<O E >5O74F5?L=O< E>EF46?5=<5< >>=E?5>F4.

�D4>F<G5E><5 74=OF<O ?D>6>4OFEO 6 4G4<F>D<OE, >5>DG4>64==OE 
=5>5E>4<<O<< =47?O4=O<< <4F5D<4?4<<.

%4<>EF>OF5?L=4O D45>F4 ?> 4<EF<??<=5 6>?NG45F:
- E4<>?>47>F>6>G > ?D4>F<G5E><< 74=OF<O< ?> >>=E?5>F4<, GG55=>=

?<F5D4FGD5 < E ?><>MLN M?5>FD>==OE D5EGDE>6;
- ?>47>F>6>4 D5D5D4F>6, 4>>?44>6;
- ?>47>F>6>4 > F5>GM5<G F5EF<D>64=<N ?> D4745?4< 4<EF<??<=O.
�E?>?L7G5<O5 6 ?D>F5EE5 ?D5?>4464=<O 4<EF<??<=O D>D<O < <5F>4O 

>D74=<74F<< 74=OF<= < 674<<>45=EF6<O ?D5?>4464F5?O < EFG45=F>6 6 4G4<F>D<<, 4 
F4>65 >D74=<74F<O E4<>EF>OF5?L=>= D45>FO EFG45=F>6 >55E?5G<64NF 6O?>?=5=<5 
=5 F>?L>> 4<44>F<G5E>>= (>5GG4NM5=), => < 6>E?<F4F5?L=>= DG=>F<<, 6 F>< G<E?5 
D476<F<5 ?>7=464F5?L=>= 4>F<6=>EF< < G6?5GU==>EF< 6O5D4==>= ?D>D5EE<5=, 
D>D<<D>64=<5 ?D>D5EE<>=4?L=>7> E4<>E>7=4=<O, ?D>D5EE<>=4?L=>=
<45=F<G=>EF< < F5==>EF5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, E4<>EF>OF5?L=>EF< <
=46O>>6 E4<>>D74=<74F<<.

%<=ED>==>5 674<<>45=EF6<5 >5GG4NM57>EO E ?D5?>4464F5?5< <>65F 
>EGM5EF6?OFLEO E ?><>MLN G4F4, E>744==>7> ?> 4<EF<??<=5 «%?5F<4?<7<D>64==4O 
< E?5F<4?L=4O 46F><>5<?L=4O F5E=<>4» =4 ??4FD>D<5 «Moodle»

http://tiugsha.ru/doc/annotacii_rp/23.03.03_ettmik23/b1v08.html 
'4F ?D54=47=4G5= 4?O >5EG645=<O GG55=>7> <4F5D<4?4 6 >=?4== D56<<5 6

F5G5=<5 6D5<5=<, ?D54=47=4G5==>7> 4?O >E6>5=<O 4<EF<??<=O.
�E<=ED>==>5 >5GG5=<5 6 6<45 E4<>EF>OF5?L=>= D45>FO < >>=FD>?O E4<>-

EF>OF5?L=>= D45>FO ?> 4<EF<??<=5 6>?NG45F:
- E4<>?>47>F>6>G > GG55=O< 74=OF<O< ?> >>=E?5>F4<, GG55=>= < =4GG=>= 

?<F5D4FGD5, E ?><>MLN M?5>FD>==OE D5EGDE>6 < D54?L=OE >=<6=OE D5EGDE>6
5<5?<>F5><;

- >D>D<?5=<5 < ?>47>F>6>4 4>>?44>6 ?> 4=4?<7G ?<F5D4FGD=OE <EF>G=<>>6 
>F5G5EF65==OE < 74DG556=OE <EE?54>64F5?5=;
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GG55=OE F5<).
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2. %>D56=>64F5?L=4O D45>F4 6 7DG??4E ?D< <5F>4<G5E>>= ?>445D6>5
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÷ <7GG5=<5 =>6>7> <4F5D<4?4 E <E?>?L7>64=<5< >5GG4NM57> EF5=4D<O;

÷ D5L5=<5 <=F5D4>F<6=OE 7444G, E M?5<5=F4<< E>D56=>64=<O 7DG??.
3. �=4<6<4G4?L=4O D45>F4 >5GG4NM<EEO =4 4G4<F>D=OE 74=OF<OE ?D<
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÷ FD5=<=7< ?> >FD45>F>5 547>6OE =46O>>6, =5>5E>4<<OE 4?O D5L5=<O 7444G;
÷ D5L5=<5 <=F5D4>F<6=OE 7444G 6 D4<>4E 7DG??>6>7> <?< <=4<6<4G4?L=>7>

E4D4>F5D4;
<?< 557 ?>445D6>< ?D5?>4464F5?O:

÷ 6O?>?=5=<5 ?D>65D>G=OE < >>=FD>?L=OE D45>F;
÷ F5EF<D>64=<5.

4. %4<>EF>OF5?L=4O <=4<6<4G4?L=4O <?< 7DG??>64O D45>F4 >5GG4NM<EEO 4><4 <?< 6
>><?LNF5D=>< 74?5. 

�D74=<74F<O >5D47>64F5?L=>7> ?D>F5EE4 4?O <=64?<4>6 < ?<F E
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO

�5GG5=<5 ?> 4<EF<??<=5 «%?5F<4?<7<D>64==4O < E?5F<4?L=4O 
46F><>5<?L=4O F5E=<>4» ?<F >F=>EOM<EEO > >4F57>D<< <=64?<4>6 < ?<F E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= 
?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO 
F4><E >5GG4NM<EEO.

� E?GG45 6>7=<>=>65=<O =5>5E>4<<>EF< >5GG5=<O ?<F E >7D4=<G5==O<< 
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GE?>6<=, 6>?NG4NM<E 6 E55O <E?>?L7>64=<5 E?5F<4?L=OE >5D47>64F5?L=OE 
?D>7D4<<, <5F>4>6 6>E?<F4=<O, 4<44>F<G5E><E <4F5D<4?>6, E?5F<4?L=OE 
F5E=<G5E><E ED54EF6 >5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, 
?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO 
=5>5E>4<<GN F5E=<G5E>GN ?><>ML, ?D>6545=<5 7DG??>6OE < <=4<6<4G4?L=OE 
>>DD5>F<>==OE 74=OF<=, >55E?5G5=<5 4>EFG?4 6 744=<O 6G74 < 4DG7<5 GE?>6<O, 557 
>>F>DOE =56>7<>6=> <?< 74FDG4=5=> >E6>5=<5 >5D47>64F5?L=OE ?D>7D4<< 
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=>EF5= >5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO >55E?5G<645FEO 
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F5>GM57> >>=FD>?O GE?5645<>EF< < ?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO ?>
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6>?NG45F 6 E55O:
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�4D5E (<5EF>?>?>65=<5) 
?><5M5=<= 4?O 
?D>6545=<O 6E5E 6<4>6 
GG55=>= 45OF5?L=>EF<, 
?D54GE<>FD5==>= 
GG55=O< ??4=>< (6 E?GG45 
D54?<74F<< 
>5D47>64F5?L=>= 
?D>7D4<<O 6 E5F56>= 
D>D<5 4>?>?=<F5?L=> 
G>47O645FEO 
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>D74=<74F<<, E >>F>D>= 
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'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 
7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < 
?D><56GF>G=>= 4FF5EF4F<< 7 210 «�5>F<>==4O 4G4<F>D<O»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 80 <5EF, 
�G?LF<<54<==>5 >5>DG4>64=<5:
�=F5D4>F<6=4O 4>E>4 SCREEN MEDIA I-82SA-1LF; �>=<F>D «LG-

19»S19A10N-1LF; �D>5>F>D BenQ MX 813 ST-1 LF; �>E>4 
4G4<F>D=4O 3-E E5>F<>==4O. %<EF5<=O= 5?>> «Formoza»-1LF., 
�455?L HDMI 15 < G5D=O= 3 1 LF., �>?>=>< SVEN SPS-611S - 1 LF;
�?5D4F<>==4O E<EF5<4: Calculate Linux; �=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice; �G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb
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'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 
74=OF<= E5<<=4DE>>7> F<?4, 7DG??>6OE < <=4<6<4G4?L=OE 
>>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 7 
32 «�5M5F5E=<G5E><5 4<EF<??<=O»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 28 <5EF; �><??5>F 
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G5D6OG=O= 3 1LF., $54G>F>D >>=<G5E><= 3 1LF., $54G>F>D G5D6OG=O= 
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,F4=75=F<D>G?L 3 1LF., �<>D><5FD 3 1LF., �=4<>4F>D=4O 7>?>6>43
1LF., %F>=>4 4?O <=4<>4F>D43 1LF., �GFD><5D3 1LF., &65D4><5D 
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(?5D5=>E=>=) - 1LF, ->D4= 4?O ?D>5>F>D4 SCREEN MEDIA =4 
FD5=>75 (?5D5=>E=>=) - 1 LF.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



�?5D4F<>==4O E<EF5<4: Calculate Linux;
�=F5D=5F 5D4G75D: Firefox;
�D<E=>5 ?D<?>65=<5: LibreOffice;
�G?LF<<54<4: SMplayer;
�D4D<G5E><= D544>F>D: gThumb.�DE<64F>D 7-zip

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO 7 36 «�><?LNF5D=O= 
>?4EE»
�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O,
�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 38 <5EF;
�=F5D=5F->4<5D4 D-Link DCS-910 12.10.2009 3 1 LF.,
%<EF5<=O= 5?>> «Colors»-4LF., �>=<F>D «Samsung»- 6 LF., 
�>=<F>D «LG»-6 LF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? 
5<5?<>F5><)
�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 384Mb - 4 LF. 
E 6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG?LO =4 80 ?>E44>G=OE <5EF.
�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus

�DE<64F>D 7-zip.

Microsoft Open License 62300500ZZE0906 >F 14.06.20077.

�D>7D4<<=>5 >55E?5G5=<5 «�D>7D4<<=4O E<EF5<4 4?O >5=4DG65=<O 
F5>EF>6OE 74<<EF6>64=<= 6 GG55=OE < =4GG=OE D45>F4E 
«�=F<??47<4F.�'�» . �>7>6>D 7 18 >F 28 <4O 20197.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O 7 64
�555?L 4?O ED4=5=<O. %N5<=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5, 
=4E>4OM55EO =4 ED4=5=<< < >5E?G6<64=<<.

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 
GG55=>7> >5>DG4>64=<O (>><?LNF5D=>= F5E=<><) 7 32a

%F5??46-1 LF., ?>?>4 1 LF., EF>?-8 LF., 
=>GF5G> Samsung NP300 E5C - 1 LF., 
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

�5DE>=4?L=O5 >><?LNF5DO ?D>F5EE>D Intel(R) Pentium (R) CPU

3GHz / ��' 1,49Gb 3 6 LF.
�?5D4F<>==4O E<EF5<4: Calculate Linux

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 
Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 
(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 
44==OE (LibreOffice Base))
�DE<64F>D 7-zip

433511,  

'?LO=>6E>4O >5?4EFL,
7. �<<<FD>67D44, 
G?. �G=5OL564, 4.310



$45>G4O ?D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<5< $��% �� ?> 
=4?D46?5=<N 23.03.03 «->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= <
>><??5>E>6», GF65D645==O= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< 
$>EE<=E>>= $545D4F<< >F 07 467GEF4 2020 7. N 916. �D>D5EE<>=4?L=O= EF4=44DF 
13.001 %?5F<4?<EF 6 >5?4EF< <5E4=<74F<< E5?LE>>7> E>7O=EF64, GF65D645==O= 
?D<>47>< �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F
02 E5=FO5DO 2020 7. 7 555= (�5>5M5==4O FDG4>64O DG=>F<O D6 �D74=<74F<O 
>5E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>7O=EF65==>= F5E=<><, FDG4>6O5 
DG=>F<<: D/01.6 �D74=<74F<O F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 
E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<<; D/02.6 �D74=<74F<O M>E??G4F4F<<
E5?LE>>E>7O=EF65==>= F5E=<>< 6 >D74=<74F<<; D/03.6 �D74=<74F<O D45>FO ?> 
?>6OL5=<N MDD5>F<6=>EF< F5E=<G5E>>7> >5E?G6<64=<O < M>E??G4F4F<<
E5?LE>>E>7O=EF65==>= F5E=<><).

 $45>G4O ?D>7D4<<4 >4>5D5=4 =4 74E544=<< <5F>4<G5E>>7> E>65F4  <=65=5D=>-
технологического D4>G?LF5F4 «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_ 

$5F5=75=F: �.&.�., ��&��& �5FDO>>6 %.�.
�D>7D4<<4 D4EE<>FD5=4 =4 74E544=<< >4D54DO «->E??G4F4F<O <>5<?L=OE <4L<= < 
E>F<4?L=>-7G<4=<F4D=OE 4<EF<??<=» «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_.

�6F>D: >.F.=., 4>F5=F %>E?>6 �.�.


